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The root is /<7

How are the infinitives used in this verse. List them
with their proper usage clearly stated.

Remember the 7"{? denies the meaning of the existence
of the word described (reality of existence).

adverb: "already" "now".,.Note the potential confusion
on this tern.

1:13 WIAT /// 71) 5] Distinguish the shades of meaning of these
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http://www.taylorlib.ibri.org/Taylor-Writings/1995-Eccl-Song/Eccl-AdvHeb/README.htm
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vwhat is significant about the use of the preposition?

1:17 vatch 577‘35[7 ‘ « Note the footnote:oﬁ pointing. Note

its relationship to: 9% . Check

the varying meanings of 991 while you
are at it. How do you suppose lexicogra-
phers come to these distinctions.

Beware 1)) 53‘{0 . The form is from ?30 not R0 . You

can imagine the grief caused by these
sybillants.
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